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����� �������� � : [�,T ] → Rn �� ����

� �(k)(t) = �(t, �, ��, ���, . . . , �(k−�)) ����������
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� �(t, �, ��, ���, . . . , �(k)) = � ����������
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y ��(t) = f (y)
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��(t) = �(�)
�(t�) = ��
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��(t�) = ���
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��(�)− �(��)� � L �� − ���
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y �(t) = λy
y(�) = y�

����� λ = a+ ib
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��(t) = A�(t)
�(t�) = ��

������ V−� AV = D = diag(λ�, . . . ,λn) ���������
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��(t) = �(�)
�(t�) = ��

� �������� ������ t�, t�, . . .� ���� ti+� = ti + h

� �������� �������� ������� �k ≈ �(tk)�
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uk(tk) = yk �
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